HK M HK DH
Screw set for NG 6 valves type HK DH / DG4V3 HANSA[/FLEX

_§.3
gigxa MR
wE DIN 912-12.9

ATk T EME HesuE
(N-m)

HK M5 30 1NEER 8,3 4 ¥ M5 x 30 0,03
HK M5 50 1 &M, HK DHI 8,3 4 £ M5 x 50 0,05
HK M5 70 1NEER + 11N RRE 8,3 4 £ M5 x 70 0,06
HK M5 90 1 B, HK DHI + 1 FRtR iR 8,3 4 ¥ M5 x 90 0,09
HK M5 110 1NAEE + 24N FE R i 8,3 0,09
HK M5 130 1 @M, HK DHI + 2 FetR @ 8,3 4 £ M5 x 130 0,10
HK M5 150 1N HEE + 3 FRRE 8,3 0,11
HK M5 170 1 @& ,HK DHI + 3 @R /& 8,3 4 4 M5 x 170 0,12
B TR &0 M4
HK DHO1 FHEEE NG 6
HK DH04/05 FE R NGB, SRE =
HK DH08/09 FER NG6, S35
HK DHA BRI F E R NG 6, Briga

HKDHE X 00 DC i@ HING 6, Lk B
HKDHE X 00 AC T4 EHHEiAS EIE NG 6

RERATRQVAIR-18
HK DHZO A IE EEBIBE NG 6
HK DLO BB NG 6
HK DLHZO TE IE L BIBEERING 6 DLHZO
HK DG4V3 BT NG 6

RELZI T FAFH BB ETEHBRR EERY TTRE X TR BB 15 B BAEAR L AT RIDHE I F Ao
24.08.2025 HANSA-FLEX AG www.hansa-flex.com 1



